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(4] LémsdisehyT N EaviE=T - Ga &R ?
public class testType {
public static void main(String[] args){

int i=3,c=0;

float f=3.0;

double d=1.9;

if(i==f)c++

if((int) (f+d)==(int)f+(int)d)c++;

System.out.printin(c);

}
}
®0
@1
®2
OFE AR aE R 4 PR
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(3] 2.4maEehyT T EAVRZ =T - B ihas R Ryfa] 2
public class Polymorphism {
public static void main(String[] args) {
m(new GraduateStudent());
m(new Student());

m(new Person());

public static void m(Object x) {
System.out.printIn( x.toString());

class GraduateStudent extends Student {

}

class Student extends Person {
public String toString() {
return "01.Student";

class Person extends Object {
public String toString() {

return "02.Person";

O]
01.Student
02.Person

@01.Student
02.Person

301.Student
01.Student
02.Person

@01.Student

02.Person

F2H
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(2] 3.4masllsehdT T AR = - By &S R K] 2
public class testArray{

public static void main(String args[])

{
char[] aryl={"T"'n'/'e",J"'a",v','a','2'};
char[] ary2={'H'",'"'I','I''0"," ", T",'i",/m",'e",'I'};
System.arraycopy(aryl,3,ary2,6,4);
for(char element : ary2)
System.out.print(element);
}
}
® Java2 Time
@ Hello Java!
® Hello Java2
@ The Time!

[2] 4. F%FE=0F a*b AVET R4S SRAVERIYRE R fr] 2
inta =>5; double b = 3.14;
System.out.printin(a*b);

® int
@ double

® float
@ byte

FIH 12 H



(4] 5.7 FAIRERR B: - Bt as R R 2
public class testContinue {
public static void main(String[] args) {

backl:

for(inti=0;i<10; i++){
back2:
for(intj=0; j < 10; j++) {

if(==9){

continue back1;

¥

System.out.print("test");

@ test
@ test test test test test test test test test test
® test test test test test test test test test

@ HF R
(1] 6.4masdnsehdT FAURYRE SR - By tH el SR el 2
public class testHello {
public static void main(String[] args){
boolean b=false;
if(b=true)
System.out.printin("f347");

else

System.out.printin("F &.");

}
¥
OLF
O
@A TR

@RS 5

FAH
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(2] 7.4meehyT T HIRRR T - B b s R Ryfa] 2
public static void main(String[] args) {
// Declare and initialize variables
intnuml =1;

int num2 = 2;

System.out.printIn("Before invoking the swap method, num1 is " +
numl + " and num2 is " + num2);

Il Invoke the swap method to attempt to swap two variables
swap(numl, numz2);

System.out.printIn("After invoking the swap method, numl is " +
numl + " and num2 is " + num2);

}

/** Swap two variables */

public static void swap(int n1, int n2) {
System.out.printIn("\tInside the swap method");
System.out.printin("\t\tBefore swapping nlis" +nl + " n2is" + n2);

// Swap nl with n2
int temp = nl;
nl=n2;

n2 = temp;

System.out.printin("\t\tAfter swappingnlis" +nl +"n2is" + n2);
}
© Before invoking the swap method, num1 is 1 and num2 is 2
Before swapping nlis 1 n2 is 2
After swappingnlis2n2is 1
After invoking the swap method, numl is 1 and num2 is 2
@ Before invoking the swap method, num1 is 1 and num2 is 2
Inside the swap method
Before swapping nlis 1 n2 is 2
After swappingnlis2n2is 1
After invoking the swap method, num1 is 1 and num2 is 2
® Before invoking the swap method, num1 is 1 and num2 is 2
Before swapping nlis 1 n2 is 2
After swapping nlis1n2is 2
Inside the swap method
After invoking the swap method, num1 is 1 and num2 is 2
@ Before invoking the swap method, num1 is 1 and num2 is 2
Before swapping nlis 1 n2 is 2
After invoking the swap method, num1 is 1 and num2 is 2
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(1] 83T NAIRERA B - BiptH&S R Afl 2
public class testVariable {
private static int i=0;

private static int j=0;

public static void main(String[] args) {
inti=2;
int k=3;
{
int j=3;
System.out.printIn("i + j is "+i+j);

¥

k=i+j;
System.out.printin("k is "+k);

System.out.printIn("j is "+j);

}
}
Di+jis23 @i+jish ®i+jish
kis?2 kis3 kis?2
jis0 jis3 jis0

(4] 9.4maiighdT M EHVRRZURE - B & SR Ry () 2
public class testSwitch {
public static void main(String args[])

{
intx=3,y=3;
switch(x+3){
case 6: y=1;
default: y+=1;

System.out.printIn(y);

®5 @4 ®3

(3] 103 Java (90 - FHIHTERE 2

O— BTV SAEE » (BB AL % (E T8
@— (- FIEALIE S » (E—(H R T T8
O— (- FBA T — (S » (B 4 T8
O— (TR T — (SO » (Bt R T8

F6H - H12H

@i+jis23
kis5
jis0
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(2] 11 A& e TR A TR 2

public static void main(String args[])

{
inti=1;
do {
int num =1;
for (intj =1;j <=1i; j++){
System.out.print(num + "G");
num += 2,
}
System.out.print(" , ");
i++;
} while (i <= 3);
¥
® 1G, 1G3G, 1G3G5G @ 1G, 1G3G, 1G3G5G, @ 1G, 3G, 56 ® 1G, 3G, 5G,

[4)12 A —dRES T2 - S (E RS - A 30%H I & EE DI & - N E i (rework) FZERR - KFEESMEE 300,000
7T 5 {HH 40%HItEE - ATEE 600,000 TT25 T (effort) fE# - S5 HLERAGAH (< JEUba B 52 5 1 E (expected
monetary value, EMV) ?

® 600,000 @ 330,000 ® 280,000 @150,000
[3]13.#R#% Putnam-Norden-Rayleigh (PNR) 4R - #is & (L& 2 55 ] (effort, E) B R ZEX (SRR t 2 BE{A Fofn] 2
@ E 81 € B TH @ E 81 € 7 ® E Bt 7 @ E 81 R

(1] 14 ERAG B SRARTEE Ry 550,000 T - fRIZIAEZHE - HEFREC 2R 55% M LAF < (BEHALREEHT > H
EEPoHS > T E5epk 45%0 TIF - HEHATREEFCE 200,000 7T - AN AL H AT 2

O BEFILBEEHETEN - MSEEER QO HEFEILEBITHEHE - HIFEE®
O HEFELEBHITAREE - MG EA] @ HFICEATHEREN - MR
[3]) 15.f%ES = (staged)BE J7 ak FyE fE A 825 (Capability Maturity Model Integration, CMMI) 47 24 (& e V4 2
® 3 & @ 4 & ® 5 @ 6
[3]) 16 A HEEIRILA 8 XAk E - REMBHE AR - FBHILA L/ DH WG EER ?
@ 8 ¥ Q7% ® 28 ¥ @ 56 ¥f

(3] 17. FHU{aIE G5 ke oo A R 3 /i RAF it ©
OFHEMENHERZER

Q@FEILHEIT (prototype)
ORI {6 I PR E B (customize) 2 THEES & » LAZE R/ D/ ¥
OEEEAE 2B R
(3] 18. NAIMET T B G 7 K A Ay 2
O EA (scenario-based model) @17 K& (behavioral model)
O FAm U AY (waterfall model) @#H FI#5 (class model)

FIH-H12H



(2] 19735% BB 2 4R dEnl i s ] 2 B2 TP RUE %408 ] I (availability) BEAERFSES 99% » RIFY 1 Aef > A F]
F I E RREGRE S n S A MREFT ST RS n R ZFE ?
® 56 /\iF @ 87 /NIF ® 92 /NiF @ 104 /\i%

(31 20. 2 S0 ST 3 T ST P LT 28050 avalability JEHAF RS 99.5% « HEIES » 254425 1/
5 - &K 1,000 7T - HARRHE S N0 (55 2 /NFETTRK 2,000 7T ~ 55 3 /NIFETTRK 4,000 JT ~ 55 4 /NEFSTEK 8,000
TC ) 0 A /NIRRT R BB NI - B 1 AR A E R SE R ERAI R Ry 50 /NEF - R Z A E R i
EQL: = IE
®7,000 J¢. @32,000 7T ®64,000 JT @128,000 7T

(3] 21,7 HHEFCRS - (B R /1 (e interface design) 2/ S5 » {3 A4k 125 91— 2
OFHEFEH BB AE
QFE[E I E R I A&/ E R E RS
O s FH B AR ME W AG S » EEREL DMFESR - A I BARLE & /i
OFEEHE M EERE 2L

(1) 22 & e ERIESZIERL ?

e | BMEID | B 24E B 557 Hr ot BhggEEEE i R RS 2
PMP 1 52,000 F+— 231 b | 02-22312200 | 02-22313300
PMA 2 43,000 P 801 =TT | 0900123456
PMA 2 43,000 = 802 SfET | 0901234567
OFE—IERE Q@ "ML QFE =IFHIL @ BCNF
(3] 23 &EREEERET - EERE AR FRENFTE BRI - AT TAI{HE ?
® GROUP BY @ ORDER BY ® LIKE @ TOP 10
(4] 242 HVERERT - S I —IHE RO - IR N YIIEREA 7
®ADD TABLE (Char name) @CHANGE TABLE ADD(Char name)
®MODIFY TABLE ADD(Char name) @ALTER TABLE ADD(Char name)

(3] 253 BAT{IERGA SupA B SupB izt » FREENERIERTT THIB » SERHAE R Rl 2
SELECT Product
FROM SupA
WHERE NOT EXISTS
(SELECT Product
FROM SupB

WHERE SupA.Product = SupB.Product )
OFURALIER A HIFTAE
QEURILIER AL ANEMD » MELER B AlVED
OHURALIER B )2 AMEM - MALIER A BRYED
@HURBLIER A FLALIER B HYFTAEMm
[41)26.F 584 BB HEHS R (BEESCANIEE — ¢ fHIER 2 - 55 SR F G L AL IEr B RS BB Ryl 2
O 1H% @1¥%f1
OF¥ 1 OE% E%

FH8H 12 H



(1] 27 ARARENIZCE R - RoIRGIH A E FEER 7
O—{EE kIR H A —E/ MR
QMK G W E G S IREHA &R T
Ok FEA 1B 7T Fy NULL
@ FEFH g Bk 2 BRI — 2k
(3] 28. THIME—THE#E - A2 BRI = A R =R 4R 2 R
OF = ﬁ-i';i(leference)
@3fefE # = (Cartesian)
OFf)%H#H (Divide)
@ EE (Union)
(1] 200 - ERMESEREAIERR - AR N T - S0 A THITH SQL 354 2

iﬂﬂr

i ?

@ Distinct @ Having
® Count @ Like
(3] 30 PRI 24005 E A L BRI - B - EEEIREET - C 1 MRt - D @ LRS! - E ¢ AEHME > SRl
SRR K NHIAT 2
® ABCDE @ DCABE
® ADCBE @ DACBE

S

N
ﬂ"\

)
=k

RS AFEAL 224 (FA254 0 2IMEHA LA > FH @
[1,2,34) 3LEVT FHIRER 4 » DR BEHERER > I 2

public static void main(String args[])

!7-—'5‘-‘—:"'4\)

{
int x=10,y=20;
boolean a=true,b=false;
System.out.printin("x!=y ==>" + (x!=y));
System.out.printin("a nand (x>y) ==>" + l(a && (x>Y)));
System.out.printin("fanorb ==>"+!(a| b));
System.out.printin(“a nor (x<y) ==>" + I(a || (x<y)));
}
@ xl=y ==>true @ anand (x>y) ==> true
®@anorb ==>false @ anor (x<y) ==> false
[2,3,4] 32.4% JAVA thgtfig - w]{EF RAIWRLEIE H &R ?
ORI @ /*..*
/... ON

FHOH 12 H



[2,3] 33.4mallehfT FiEAviE=s - FoI( & Rl thaE R — 2
public class testPrint {

public static void main(String args[])

{

System.out.printIn("01." +"Hi, ABC, good".matches(".*ABC.* "));
System.out.printIn("02." +"A,B;C".replaceAll(",;", "#"));

System.out.printIn("03." +"A,B;C".replaceAll("[,;]", "#"));

String[] tokens = "Apple,Boy;Cat".split("[,;]");
for (inti = 0; i< tokens.length; i++)

System.out.print("04." +tokens[i] +" "),

}
® 01.true @ 02.A,B;C

® 03.A#B#C @ 04.Cat

[1,4] 34 NHISBEAARE - (a5 Al IEH 8T ?
@ $NT
@ @value
® 500kg
@ UserNames

[2,3] 35. N3 JAVA (Y& RIIRES - {738 K07 6 {[H byte ?
@ int
@ long
® double
@ float

[1,2,4) 36. 5%kt ABCDEF » NHIRE (4R E 7y A ANFLLHEErS 7
public class TestABCDEF {
public static void main (String args[]) {

System.out. ("ABCDEF");

}

@ print @ println
@ printt @ printf

F10H - 12 H



[2,4) 37.4maitshdT NYIRIRE G - DL BEE Er B el 2 s 7
public class testS1S2 {

public static void main(String args[])

{
short a=50;
int b=100;
float d=1.2f;
double e=2.5d;

String s1,s2;

s1=String.valueOf(a+b)+String.valueOf(a)+String.valueOf(b);
s2=Float.toString(d)+Double.toString(e);
System.out.printIn(*'sl =" + s1);

System.out.printIn(*'s2 =" + s2);

}
® s1=150 @ s1 = 15050100 ®s2=36 @s2=1.225

[1,3,4) 38.75 break Eil continue Fy4LHt » FHIE[ 2 EHE ?
@ break 7] LLEfkEE H Fij switch ~ for ~ while ~ do while FYIESE » AT ATE 2 &R E N —{E A
@ continue H & 4ERRE ARG BE HPAYRERCE] - SEEk[E] switch ~ for ~ while ~ do while & EBRATFATHAE S T~ —(E
AR - 1A 2 B AR R
® break ATLLHEBCEE S (Label)sR{EH] - #E 3 E Rk IR - break N E ZEEFAAERE - /S HEFH BRI R A
& (Scope) 448 1% N#dT
@ continue A DUFEECAE S (Label) s (2] » FEEEEAE for HEFE 2~ il - 7F continue %172 1% @ & [BIFIFEE R EAR Y
for eI & B TIEER
[3.4] 39.RAGEHZE 2 HAHIRRE Ry © [FFH] 5000 /N - H AT E & (earn)4500 /N - WELAE T 4800 /N © 55[E T~
fo] & IEHE 2
OHFFE 2E %53 (schedule performance index, SP1)=1.11
QHEZILERBHIFEHE - HIHE%E R
Ok A L& (cost performance index, CPI) =0.9375
OHEZEWREER - HALEBHEHEE

[13] 40. HATHE ZIRRE Ry ¢ FRARE] 5500 /Ny - HATE % (earn)5700 /N » ALTLAE 1 6000 /NEF © G5 T FI{A[E

1EHE ?
ORG24 2 (schedule variance, SV) =200 QHHFE %8 5 (schedule variance, SV) = -200
Ok A £ FL (cost variance, CV) = -300 @pk A8 F (cost variance, CV) =300

[1,4) 415RAZH (module)f R 54H A THREAH K M (functional independence) FYCL » T 1{a] =& TERE ?
ORI 2 Z2 & 71 (cohesion) #ls #T OFHAH ] 2 25 & 1 (cohesion) g BT
OF5EH A Z #& 71 (coupling) kg g dls @FHAH ] i & 1 (coupling) il 55T

FUH-H12H



(1.2,4) 42. N5 fal & g S cae 2 JBE TG (stress testing) ?

O TR A REC RS 2 HIEZ 1 (test cases) @ ALLIEE 15 28 2 &kt
O M Imi AR OHITHRREFIEREER Z AR
[1,2,4] 43. N7IWRLEE Y G B ARG FREE SRHE (debug strategy) ?
Oz 71 Fs(brute force) @z [a13EHi (backtracking)
O FHRIE %= e (fire programmer) @ JFH A Bk £ (cause elimination)
[—H4a70] 44 TREURFEEZE 2 SIS BN RAENF A R EAE ZL R (% > RIS SR ] 2 TERE 2
JEH] FrégieE (TIEED HRAT/EH)
A —
B 2 --
C 5 A
D 4 C
E 2 C
F 7 B,D
G 2 D,E F

OB HEERAFSC 17 (B TIFH 58K
@JfiE) D 5 AL 4 (B TIEH - A G AR L e E
Qi) E B2 i L 5 (B TIEH » i N G AR R SE AR
@5 EE) F 455 3B TAEH » AR RESL 14 (@ TIEH 58
[2,4) ASARAERAE 2 ROl - T 11er & A ?
O MIEA—MEE I H 46 (white box)HIE
@[=l i (regression) il AT FH LU RS H IS 5 0 LA ois ~ s 2
O BzEtZ (validation) {45 & IEMERYEE 172 fh(Are we building the product right 2 )”
@Epi% (validation) {55 & A& 217 IEAERYZE S (Are we building the right product ? )”

[1,3] 46.1% EAVfEAZ B (use case) A IR ©
O R BIGT R R T R (acton T ZK B AL B E
O FHF B Z T Ry (actor) Z 55 KRG
O FHZEPI 1T Ry (actor) Z BREEE R
O B ET T R (acton) A ZoREE B E Z A 2SN EEE)
[1,3] 47 55EE T YIEH EREE 258 = (Data Definition Language, DDL)ARHSE T ?

® ALTER @ UPDATE ® DROP @ INSERT
[3,4) 485 R0ERIERS 5 ACID ARt » T ERE ?
® Automatically @ Confidentiality ® Isolation @ Durability
[1,4] 49. BRI T Za Bl - —feg BRATL T2/ (Concurrency Control) » N1l Bt {72 HEY 2
O ZHIIIL(Isolation) @ e ILafEs At O ZEfERE —~— ORESXHELE
[1,2,4] 50. F¥I{A] 2w e sE 45 (Deadlock) (4 2
OFf HEFf @G Jx &A% OFEERTGAT
[2,4] 51. N¥Ifa[E HERHEREE SIS S ©
®SELECT @COMMIT ®COUNT @GRANT
[1,2,4] 52 5ERIBIARZE % - @A NI &R R AT 2
OV E = @ O = @HIR=
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